

SOLVING GAUSS ELIMINATION METHOD USING TRAPEZOIDAL FUZZY MATRICES AND SOME PROPERTIES OF TRIANGULAR TRAPEZOIDAL MATRICES

S. Divya Bharathi

Assistant Professor, PG and Research Department of Mathematics, Theivanai Ammal College for Women (Autonomous), Tamil Nadu, India

I. Mary Flora

PG and Research Department of Mathematics, Theivanai Ammal College for Women (Autonomous), Tamil Nadu, India

ABSTRACT

In this paper, gives the definition of trapezoidal fuzzy matrices and triangular matrices. sum and scalar multiplication of a triangular trapezoidal fuzzy matrices are proved and solving gauss elimination method using trapezoidal fuzzy matrices are satisfying property of triangular matrices.

Key words and phrases: Trapezoidal fuzzy number, trapezoidal fuzzy matrices, triangular trapezoidal matrices, Gauss elimination method.

1. INTRODUCTION

A fuzzy technology can be used in artificial intelligence computer science, control engineering, expert system and management science and so on. Developed the trapezoidal fuzzy matrices from Triangular fuzzy matrices. A lot of work on fuzzy matrices is to promote the development of fuzzy system for successful real-world applications.

2. PRELIMINARY

Definition 1. *Trapezoidal Fuzzy Number*

A fuzzy number $A=(a, b, c, d)$ is said to be a trapezoidal fuzzy number if its membership function is defined as follow:

$$\mu_A(x) = \begin{cases} \frac{x-a}{b-a}, & \text{if } a \leq x \leq b \\ 1, & \text{if } b \leq x \leq c \\ \frac{x-d}{c-d}, & \text{if } c \leq x \leq d \\ 0, & \text{if elsewhere,} \end{cases}$$

Definition 2. *Trapezoidal Fuzzy Matrix*

A trapezoidal fuzzy matrix of order $(m \times n)$ is defined as $A=(a_{ij}^{TzL})_{m \times n}$ where

$(a_{ij})=(a_{ij1}, a_{ij2}, a_{ij3}, a_{ij4})$ is the ij^{th} element of A

Example: $\begin{bmatrix} (-1,2,3,4) & (2,4,6,8) \\ (1,4,5,6) & (4,5,9,10) \end{bmatrix}$

3. Triangular Trapezoidal Fuzzy Matrix

Definition 3. Triangular Trapezoidal Fuzzy Matrix

A square trapezoidal fuzzy matrix $A=(a_{ij}^{TzL})$ is called a triangular trapezoidal fuzzy matrix if it either an upper triangular trapezoidal fuzzy matrix or a lower triangular trapezoidal fuzzy matrix.

Definition 4. Upper Triangular Trapezoidal Fuzzy Matrix

A square trapezoidal fuzzy matrix $A=(a_{ij}^{TzL})$ is called an upper triangular trapezoidal fuzzy matrix if all the entries below the principal diagonal are 0.

Definition 5. Lower Triangular Trapezoidal Matrix

A square trapezoidal fuzzy matrix $A=(a_{ij}^{TzL})$ is called a lower triangular trapezoidal fuzzy matrix if all the entries above the principal diagonal are 0.

4. Some properties of Triangular Trapezoidal Fuzzy Matrix

In this section present and proved the properties of Triangular Trapezoidal Fuzzy Matrix

Theorem 1.

Let A and B are two upper triangular trapezoidal fuzzy matrix of order n. Then the sum is also an upper triangular trapezoidal fuzzy matrix of order n.

Proof.

Let $A=(a_{ij}^{TzL})$ and $B=(b_{ij}^{TzL})$ be two upper triangular trapezoidal fuzzy matrices

where $(a_{ij}^{TzL})=(a_{ij1}, a_{ij2}, a_{ij3}, a_{ij4})$ and $(b_{ij}^{TzL})=(b_{ij1}, b_{ij2}, b_{ij3}, b_{ij4})$

since A and B are upper triangular trapezoidal fuzzy matrices $(a_{ij}^{TzL})=0$ and $(b_{ij}^{TzL})=0$ for all $(i > j)$ and $i+2 \leq j; j= 1, 2, 3, \dots, m$.

Let $A + B = C$. Then $(a_{ij}^{TzL}) + (b_{ij}^{TzL}) = (c_{ij}^{TzL})$ for all $i > j$ and $i+2 \leq j; j=1, 2, 3, \dots, m$.

$$(c_{ij}^{TzL}) = (a_{ij}^{TzL}) + (b_{ij}^{TzL}) = 0 + 0 = 0.$$

Hence C is also an upper triangular trapezoidal fuzzy matrix of order n.

Theorem 2

Let A and B are two lower triangular trapezoidal fuzzy matrix of order n. Then the sum is also a lower triangular trapezoidal fuzzy matrix of order n.

Proof.

Let $A=(a_{ij}^{TzL})$ and $B=(b_{ij}^{TzL})$ be two lower triangular *trapezoidal fuzzy matrices*

where $(a_{ij}^{TzL})=(a_{ij1}, a_{ij2}, a_{ij3}, a_{ij4})$ and $(b_{ij}^{TzL})=(b_{ij1}, b_{ij2}, b_{ij3}, b_{ij4})$

since A and B are lower triangular *trapezoidal fuzzy matrices* $(a_{ij}^{TzL})=0$ and $(b_{ij}^{TzL})=0$ for all $(i < j)$ and $i \geq j + 2; i, j=1, 2, 3, \dots, m$.

Let $A + B = C$. Then $(a_{ij}^{TzL}) + (b_{ij}^{TzL}) = (c_{ij}^{TzL})$ for all $i > j$ and $i \geq j + 2; i, j=1, 2, 3, \dots, m$.

$$(c_{ij}^{TzL}) = (a_{ij}^{TzL}) + (b_{ij}^{TzL}) = 0 + 0 = 0$$

Hence C is also a lower triangular *trapezoidal fuzzy matrix* of order n.

Theorem 3

Let A be an upper triangular *trapezoidal fuzzy matrix* of order n. Then the product KA is also an upper triangular *trapezoidal fuzzy matrix* of order n.

Proof.

Let $A=(a_{ij}^{TzL})$ be an upper triangular *trapezoidal fuzzy matrix*

where $(a_{ij}^{TzL})=(a_{ij1}, a_{ij2}, a_{ij3}, a_{ij4})$

since A is an upper triangular *trapezoidal fuzzy matrix* $(a_{ij}^{TzL})=0$ and for all $(i > j)$ and $i + 2 \geq j; i, j=1, 2, 3, \dots, m$.

Let K is the scalar and $KA=B$. Then $K(a_{ij}^{TzL}) = (b_{ij}^{TzL})$ for all $i > j$ and $i + 2 \geq j; i, j=1, 2, 3, \dots, m$.

$$K(a_{ij}^{TzL}) = (b_{ij}^{TzL}) = 0$$

Hence KA is also an upper triangular *trapezoidal fuzzy matrix* of order n.

Theorem 4

Let A be a lower triangular *trapezoidal fuzzy matrix* of order n. Then the product KA is also a lower triangular *trapezoidal fuzzy matrix* of order n.

Proof.

Let $A=(a_{ij}^{TzL})$ be a lower triangular *trapezoidal fuzzy matrix*

where $(a_{ij}^{TzL})=(a_{ij1}, a_{ij2}, a_{ij3}, a_{ij4})$

since A is a lower triangular *trapezoidal fuzzy matrix* $(a_{ij}^{TzL})=0$ and for all $(i < j)$ and $i \geq j + 2; i, j=1, 2, 3, \dots, m$.

Let K is the scalar and $KA=B$. Then $K(a_{ij}^{TzL})=(b_{ij}^{TzL})$ for all $i < j$ and $i \geq j + 2; i, j=1, 2, 3, \dots, m$.

$$K(a_{ij}^{TzL})=(b_{ij}^{TzL})=0$$

Hence KA is also a lower triangular *trapezoidal fuzzy matrix* of order n .

Theorem 5.

Let A be an upper triangular trapezoidal fuzzy matrix then the transpose is a lower triangular trapezoidal fuzzy matrix and vice versa

Proof:

Let $A=(a_{ij}^{TzL})$ be an upper triangular *trapezoidal fuzzy matrix*

where $(a_{ij}^{TzL})=(a_{ij1}, a_{ij2}, a_{ij3}, a_{ij4})$

since A is an upper triangular *trapezoidal fuzzy matrix* $(a_{ij}^{TzL})=0$ and for all $(i > j)$ and $i + 2 \geq j; i, j=1, 2, 3, \dots, m$.

Let B be the transpose of A . Then $\bar{A}=B$

$$(a_{ij}^{TzL})=(b_{ij}^{TzL}) \text{ for all } i > j \text{ and } i + 2 \geq j; i, j=1, 2, 3, \dots, m.$$

$$(a_{ij}^{TzL})=0=(b_{ij}^{TzL})$$

That is for all $i < j$ and $i \geq j + 2; i, j=1, 2, 3, \dots, m$.

$$(b_{ij}^{TzL})=0$$

Hence B is also a lower triangular *trapezoidal fuzzy matrix*.

5. Gauss Elimination

Gauss elimination is also known as row reduction is an algorithm for solving system of linear equations. This method is used to compute the rank of matrix, the determinant of a square matrix, and the inverse of an invertible matrix. Its convert the linear system of equation to upper triangular form from which solution of the equation is determined.

i. Augmented matrix must be written for the system of linear equation.

ii. Transform A to upper triangular form using row operation on $\{A/b\}$ diagonal element may not be zero.

iii. Use back substitution for finding the solution of problem.

6. Numerical Example

consider the following linear system in the form of 4×4 trapezoidal fuzzy matrices.

$$x_1 + 2x_2 + x_3 - x_4 = 5$$

$$3x_1 + 2x_2 + 4x_3 + 4x_4 = 16$$

$$4x_1 + 4x_2 + 3x_3 + 4x_4 = 22$$

$$2x_1 + x_3 + 5x_4 = 15.$$

This system can be represented by the coefficient matrix A and right-hand side Vector b, as follows

$$A = \begin{bmatrix} 1 & 2 & 1 & -1 \\ 3 & 2 & 4 & 4 \\ 4 & 4 & 3 & 4 \\ 2 & 0 & 1 & 5 \end{bmatrix} \quad B = \begin{bmatrix} 5 \\ 16 \\ 22 \\ 15 \end{bmatrix}$$

To perform row operation to reduce this system to upper triangular form, we define the augmented matrix.

$$\bar{A} = [Ab] = \begin{bmatrix} 1 & 2 & 1 & -1 & 5 \\ 3 & 2 & 4 & 4 & 16 \\ 4 & 4 & 3 & 4 & 22 \\ 2 & 0 & 1 & 5 & 15 \end{bmatrix}$$

We first define $\bar{A}^{(1)} = A$ to be the original augmented matrix. Then, we denote by $\bar{A}^{(2)}$ the result of the first elementary row operation, which entails subtracting 3 times the first row from the second in order to eliminate x_1 from the second equation:

$$\bar{A}^{(2)} = \begin{bmatrix} 1 & 2 & 1 & -1 & 5 \\ 0 & -4 & 1 & 7 & 1 \\ 4 & 4 & 3 & 4 & 22 \\ 2 & 0 & 1 & 5 & 15 \end{bmatrix}$$

Next, we eliminate x_1 from the third equation by subtracting 4 times the first row from the third

$$\bar{A}^{(3)} = \begin{bmatrix} 1 & 2 & 1 & -1 & 5 \\ 0 & -4 & 1 & 7 & 1 \\ 0 & -4 & -1 & 8 & 2 \\ 2 & 0 & 1 & 5 & 15 \end{bmatrix}$$

Then we complete the eliminate of x_1 by the subtracting 2 times the first row from fourth

$$\bar{A}^{(4)} = \begin{bmatrix} 1 & 2 & 1 & -1 & 5 \\ 0 & -4 & 1 & 7 & 1 \\ 0 & -4 & -1 & 8 & 2 \\ 0 & -4 & -1 & 7 & 5 \end{bmatrix}$$

We now need to eliminate x_2 from the third and fourth equations. This is accomplished by subtracting the second row from the third, which yields

$$\bar{A}^{(5)} = \begin{bmatrix} 1 & 2 & 1 & -1 & 5 \\ 0 & -4 & 1 & 7 & 1 \\ 0 & 0 & -2 & 1 & 1 \\ 0 & -4 & -1 & 7 & 5 \end{bmatrix}$$

And the fourth, which yields

$$\bar{A}^{(6)} = \begin{bmatrix} 1 & 2 & 1 & -1 & 5 \\ 0 & -4 & 1 & 7 & 1 \\ 0 & 0 & -2 & 1 & 1 \\ 0 & 0 & -2 & 0 & 4 \end{bmatrix}$$

Finally, we subtract the third row from the fourth to obtain the augmented matrix of an upper triangular system,

$$\bar{A}^{(6)} = \begin{bmatrix} 1 & 2 & 1 & -1 & 5 \\ 0 & -4 & 1 & 7 & 1 \\ 0 & 0 & -2 & 1 & 1 \\ 0 & 0 & 0 & -1 & 3 \end{bmatrix}$$

Finally, we obtain the upper triangular trapezoidal fuzzy matrix and also satisfied the property of triangular trapezoidal fuzzy matrix using Gauss elimination method also.

Note that in a matrix for such a system. all entries below the main diagonal the entries where the row index is equal to the column index are equal to zero.

That is,

(a_{ij}) for $i > j$.

Now, we can perform back substitution on the corresponding system,

$$x_1 + 2x_2 + x_3 - x_4 = 5$$

$$-4x_2 + x_3 + 7x_4 = 1$$

$$-2x_3 + x_4 = 1$$

$$-x_4 = 3.$$

to obtain the solution, which yields $x_4 = -3$, $x_3 = -2$, $x_2 = -6$ and $x_1 = 16$

7. Conclusion

In this paper a new method is applied to compute the fully linear system. Here Gauss elimination procedure is used as solver and the validity of the proposed algorithm is examined with numerical example. Many scientific and engineering domains of computation may take the form of linear equation also some properties of triangular Trapezoidal Fuzzy Matrix are proved and the theories of the discussed triangular Trapezoidal Fuzzy Matrix may be utilized in future works.

References

- [1] DUBASIS. D and PPRADE. H. Operation on Fuzzy International journal of systems, Vol. 9(6), 1978, 613- 626.
- [2] Kandel. A Fuzzy Mathematical Techniques with Application. Addition Wisley, Tokoyo,1996.
- [3] Mohana. N and Mani. R Some Properties of Constant of Trapezoidal Fuzzy Matrices International Journal for Science and Advance Research In Technology, Vol 4, Issue2, 2018,PP 102-108.
- [4] Zadeh.L. A Fuzzy Sets Information and Controls,8,1965,338-353.
- [5] Zadeh.L.A. Fuzzy sets as a basis for a theory of possibility, fuzzy sets and systems, NO-1,1978,3- 28.
- [6] Shyamal. A. K and Pal. M. Triangular fuzzy Matrices. Iranian journal of fuzzy systems Volume- 4,No-1,2007,75-87.
- [7] OVERHINNIKO. S.V. Structure of fuzzy relations, Fuzzy Sets and Systems, Vol 61988, PP 169-195.
- [8] Stephen DINAGAR. D and K. LATHA. A Note on type2- triangular fuzzy matrices, International J. of Math,Sci.v.6,No.1(2012),PP.207-216.
- [9] S.H. Nasser Solving fuzzy linear system of equation by use of matrix decomposition, International Journal of Applied Mathematics.
- [10] M. Friedman, M. Ming and A. Kandel, A fuzzy linear system, Fuzzy Sets and Systems,96(1998),201-209.
- [11] A. Kaufmann and M.Gupta,Introduction to fuzzy arithmetic.
- [12] M. DEHGEN, B. Hashemi and M. GHATE Applied Mathematics and computation,179(200),328- 343.
- [13] M. Mosleh.et al., Decomposition method for solving fully fuzzy linear system Iranian Journal of Optimization, (2009),188-198